
SROVNÁVACÍ ROVINA        466,00 Bpv

ZMĚNA PŘÍČ. SKLONU:

KÓTY NIVELETY:

KÓTY TERÉNU:

STANIČENÍ:

VZDÁLENOST PŘ. ŘEZŮ:

SMĚROVÉ POMĚRY:

47
5,

12

47
5,

73

47
6,

16

47
6,

39

47
6,

82

47
7,

05

47
7,

01

47
6,

78

47
5,

12

47
5,

74

47
6,

17

47
6,

39

47
6,

81

47
7,

05

47
7,

01

47
6,

78

0,0 0,1

20
,0

0

40
,0

0

60
,0

0

80
,0

0

20
,0

0

37
,2

3

P=1,89

0,
00

1,
89

R=77,25 L=11,50

13
,3

8

P=16,14

29
,5

3

R=47,25 L=32,77

62
,3

0

P=31,49

93
,8

0

P=37,64

93
,8

0

13
1,

44

R=27,25 L=5,62
P=0,17

13
7,

06
13

7,
23

475,18

475,54

476,07 476,13
476,38

476,59
477,00 476,85

476,78

0,
00

35
7

0,
00

25
5

0,
00

46
0

0,
06

29
7

0,
05

87
4

0,
06

72
0

0,
13

35
7

0,
13

11
7

0,
13

59
7

0,
02

18
2

0,
01

39
5

0,
02

97
0

0,
03

66
6

0,
03

52
2

0,
03

81
0

0,
04

26
4

0,
04

71
8 0,

09
28

9

0,
06

95
3

0,
11

62
4

0,
12

39
5

0,
12

23
1

0,
12

55
9

SKLONOVÉ POMĚRY:
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PŘÍČNÝ PRÁH
DÉLKA 5,5m
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DRENÁŽ DN100, DÉLKA 137m

VÝŠKOVÉ ŘEŠENÍ:
KONSTRUKCE VOZOVKY:


